

Republic of the Philippines CITY GOVERNMENT OF MUNTINLUPA **Bids and Awards Committee**

NOTICE TO PROCEED

REGIMED PHARMACEUTICAL **Quezon City**

Dear Sir / Madame:

The attached Contract Agreement having been approved, notice is hereby given to **REGIMED PHARMACEUTICAL** that the CONTRACT of the City Government of Muntinlupa for the "Supply & Delivery of Medical, Dental & Laboratory Supplies for use of CHO & YASDO", shall commence effective FIVE (5) DAYS after acknowledging receipt hereof.

Upon receipt of this notice, you are responsible for performing the services under the terms and conditions of the Agreement and Schedule of Delivery.

Please acknowledge receipt and acceptance of this notice by signing both copies on the space provided below. Kindly keep one (1) copy and return the other copy to the Bids and Awards Committee Secretariat.

Very truly yours,

I acknowledge receipt of this Notice on ANGUST 08, 2023

THELDAS. CERVANTES

Name of the Bidder or Representative RECIMED PHARMACEUTICAL

Authorized signature ______



Contract Agreement

WHEREAS, the Entity invited Bids for certain goods and ancillary services, particularly for the **Supply & Delivery of Medical, Dental & Laboratory Supplies for use of CHO & YASDO** and has accepted a Bid by the Supplier for the supply of those goods and services in the sum of **Seven Million Eighty Five Thousand Five Hundred Eight Pesos & 60/100 (P7,085,508.60)** (hereinafter called "the Contract Price").

NOW THIS AGREEMENT WITNESSETH AS FOLLOWS:

- 1. In this Agreement words and expressions shall have the same meanings as are respectively assigned to them in the Conditions of Contract referred to.
- 2. The following documents as required by the 2016 revised Implementing Rules and Regulations of Republic Act No. 9184 shall be deemed to form and be read and construed as integral part of this Agreement, viz.:
 - i. Philippine Bidding Documents (PBDs);
 - i. Schedule of Requirements;
 - ii. Technical Specifications:
 - iii. General and Special Conditions of Contract; and
 - iv. Supplemental or Bid Bulletins, if any
 - ii. Winning bidder's bid, including the Eligibility requirements, Technical and Financial Proposals, and all other documents or statements submitted;

Bid form, including all the documents/statements contained in the Bidder's bidding envelopes, as annexes, and all other documents submitted (e.g., Bidder's response to request for clarifications on the bid), including corrections to the bid, if any, resulting from the Procuring Entity's bid evaluation;

- iii. Performance Security;
- iv. Notice of Award of Contract; and the Bidder's conforme thereto; and
- v. Other contract documents that may be required by existing laws and/or the Procuring Entity concerned in the PBDs. Winning bidder agrees that additional contract documents or information prescribed by the GPPB that are subsequently required for submission after the contract execution, such as the Notice to Proceed, Variation Orders, and Warranty Security, shall likewise form part of the Contract.

- 3. In consideration for the sum of Seven Million Eighty Five Thousand Five Hundred Eight Pesos & 60/100 (P7,085,508.60) or such other sums as may be ascertained, REGIMED PHARMACEUTICAL agrees to the Supply & Delivery of Medical, Dental & Laboratory Supplies for use of CHO & YASDO in accordance with his/her/its Bid.
- 4. The City Government of Muntinlupa agrees to pay the above-mentioned sum in accordance with the terms of the Bidding.

IN WITNESS whereof the parties hereto have caused this Agreement to be executed in accordance with the laws of the Republic of the Philippines on the day and year first above written.

Hon. ROZZANO RUFINO B. BIAZON City Mayor	
--	--

Supplier S. CORVENTED

for:
CITY GOVERNMENT OF MUNTINLUPA

REGIMED PHARMACEUTICAL

б	E/h
inere	maganda

Signed in the presence of:

Belinda Biessie Macagge

ACKNOWLEDGEMENT

REPUBLIC OF THE PHILIPPINES)
CITY OF MUNTINLUPA)

NAME

GOVERNMENT ISSUED ID NO.

Hon. ROZZANO RUFINO B. BIAZON Imeida Cervantes Driver's License N03-86-030998

Driver's License N04-89-1/25-75

Known to me and to me known to be the same persons who executed the foregoing instrument and acknowledged to me that the same is their own voluntary act and deed.

WITNESS MY HAND SEAL.

Doc. No. 13; Page No. 4; Book No. 12; Series of 2023. MEYNARD'R JOB

Notary Public for Muntinhupa City
Notarial Commission No. 23-009
Until December 31, 2024
PTR No. 4347537 / Jan. 03, 2023 / Muntinhupa City
IBP Lifetime O.R. No. 1010271 / Jan. 04, 2018
Roll No. 49786 / PPLM
MCLE Complicace No. VII-0016417 / April 26, 2022
2731-C Bruger Street, Bruger Subdivision,

Putaten, Muntinhipa City



REPUBLIC OF THE PHILIPPINES DEPARTMENT OF TRANSPORTATION LAND TRANSPORTATION OFFICE NON-PROFESSIONAL DRIVER'S LICENSE



Last Name. First Name. Middle Name.
CERVANTES, IMELDA SINGH
Nationality
PHL
F
1965/11/21
55
1.55
Address
LOT 2-8 BLK6 FAITH COR.BETHLEHEMISTS.
MULTINATIONAL VILL PARANAQUE CITY.
Licease Na.
NO4-89-112575
2023/11/21
N20
Blood type
Bracker
CH
Restrictions
Restrictions
Restrictions
Restrictions
Restrictions

Restrictions Conditions NONE FOGAR C GALVANTE Assistant Secretary



republic of the philippines DEPARTMENT OF TRANSPORTATION LAND TRANSPORTATION OFFICE





HOLPHOFESSIONAL DRIVER'S LICENSE

BIAZON, ROZZANO RUFINO BUNDAN

Haseophir Ser tree-et until Weight pul Heighton PHL At 1969/03/20 103 177

AMMAS A 10 TAAL ST AYALA ALADANG VILLAGE, MUSTINLUPA CH'Y

1402-05-030998 2023/03/20

Descript PROWN Stand for

Etinin CAMVAINE Authoris Security Assistant Specietary

057291296

C



Spridy h. fr.

H ONGAN EDHATION PWI, HOTIONATE AIM UNIAN NAMES CHEMERGENCY NOTH'N NAMES CHEMERANT SACRI TAI, HALL KOLTZEN 149

PURCHASE ORDER

City Government of Muntinlupa

Supplier: REGIMED PHARMACEUTICAL				P.O. No.:	030202	_	
Address: Quezon City					Date :	August 01	., 2023
Address	. <u>Quezon</u>	CILY			_		ublic Bidding
Gentleme	n:						
	Please furn	ish and/or d	eliver to this office the	e following articles subject	to the terms ar	d conditions contain	ned nerein:
Place	e of delivery :				Delivery Ten	n:	
					Payment Terr	n :	
	1					Unit Cost	Amount
Item No.	Quantity	Unit		Description		Unit Cost	Amount
						Ì	
1	17	рс		icose and uric meter		4,545.00	77,265.00
2	250	bot	70% Ethyl Alcohol 5			138.00	34,500.00
3	250	bot	70% Isopropyl Alcoh			138.00	34,500.00
4	18	pc	Adult Weighing Scal	•		450.00	8,100.00
5	20, .	box	Applicator Stick 100	U'S		320.00	6,400.00
6	80	box	Blood lancet 200s		.	510.00	40,800.00
7	.60	set		Stethoscope (Aneroid type)	Orig Baxtel	2;800.00	168,000.00
8	300	can	Cholesterol strips, 1			1,555.00	466,500.00
9	100	box), cutting needle 12s		580.00	58,000.00
10	10	gal	Cidex(for cleaning in			2,558.00	25,580.00
11	15	box	Clay Sealant (Cha-se	eal) 10's		378.00	5,670.00
12	5	bot	Colorless Nail Polish			45.00	225.00
13	330	roll	Cotton rolls 400gms	;		249.80	82,434.00
14	300	pack	Cotton balls 150's			55.00	16,500.00
15	5	box	Cotton Pledget Ster	ile 100's		360.00	1,800.00
16	25	pack	Dental Bib 100s			179.80	4,495.00
17	34	btl	Dental Lidocaine 5%	6 ointment 50g		450.00	15,300.00
18	20	set	Dental Light Cure co	omposite		5,049.00	100,980.00
19	250	box	Dental needle (shor	•		535.00	133,750.00
20	50	pack	Dental Suction Tip 1			260.00	13,000.00
21	25	рс	Digital BP Apparatu			1,850.00	46,250.00
22	14	bot	Diluting fluid 400 m			320.00	4,480.00
23	355	box	Disposable syringe :	lcc Terumo 100's		1,460.00	518,300.00
24	270	box	Disposable syringe	3cc Terumo 100's		1,490.00	402,300.00
25	250	pack	Disposable Syringe			1,039.00	259,750.00
26	64	roll	, ,	*		145.00	9,280.00
			ECG tracing paper,				
27	110	box	Face mask 50's 3 ply Face mask N95	Y		84.50	9,295.00
28	15	pcs	1	hearbant)		185.00	2,775.00
29	50	roll	Gauze Roll Large (Al Glass Slide Frosted 1			1,080.00 12490	54,000.00 28, 477.2 0
30	228	packs	Glass Slide Plain 72'				29,900.00
31	200	packs		s e 1 of 6		149.50	29,900.00
	<u> </u>	<u></u>					
Total A	mounts in Wo	ords:					į
	In case of fa	ailing to mak	ce the full delivery wit	hin the time specified above	, a penalty of o	one-tenth (1/10) of or	ne percent
for ever	y day of dela	y shall be in	Messer Cund		/		
	TM	BIDA	CERVANTES		Very Truly y		
Confro	me: REGIM	ED PHARI	R. CERVANTES		Mayof ŘØ	ZZÁNO RUFINO	B. BIAZON
		Signature ov	er printed name			Authorized Officia	l
-		Auc	08 2023				ļ
		I	08,2023				1
							
Section	e of Negotiat 1 369 (a) of R omplished)		pursuant to portion must	Requesting Office/Dept.	A	railable: mount:	j
	ved to be pure	chased thru	Negotiated		R	O. No.:	
			No.:				
Certific	ed Correct:						
		Secretary of	the Sanggunian	Authorized Official	:	Chief Account	
l			<u>í , </u>	1	l		

Ø.

PURCHASE ORDER

City Government of Muntinlups

Supplier: REGIMED PHARMACEUTICAL					<u> </u>	11-111-1111	
Address : Quezon City					. August 01, 2023		
Address . Quezon Grey					Public Bidding		
			Mode of	groen	rement:		
							Š.
Gentlemen); 		eliver to this office the following arti	also gultinot to the term	and	conditions cont	ined berein
	Please furn	ish and/or d	eliver to this office the following arti	eles subject to the term	S and	conditions conti	illico necesii
					Ī	ad arrababin fi delegada fi mej disebingi nga manada gabi masa menghih desebindia del	
Place	of delivery:			Delivery	lerm	:	
Date	of delivery :			Payment '	Term		
	· · · · · · · · · · · · · · · · · · ·				┼	1	
ltem No.	Quantity	Unit	Description	n		Unit Cost	Amount
							442 500 00
32	250	box	Gloves, non sterile latex powder free	a M 100's	1	450.00	112,500.00 49,500.00
33	110	box	Gloves, non sterile latex powder free	e 100's L		450.00	45,000.00
34	100	box	Gloves, non sterile latex powder free	e 100's S		450.00	39,240.00
35	18	рc	Glucometer		 .	2,180.00	385,000.00
36	350	can	Glucostrips, 25s/canister			1,100.00	1 ' 1'
37	30	pack	Heads Cap 100s			320.00	9,600.00
38	35	kit	Hemaquick Stain set 500ml		1	5,010.00	175,350.00
39	35	pack	Infectious Bag (black) 100's			765.00	26,775.00
40	13	packs	Infectious Bag (yellow) 100's			765.00	9,945.00
40 41	20	box	Insulin syringe 1cc G29, 100/box			1,115.00	22,300.00
41 42	20 17	tube	K-Y jelly 50g, Tube		İ	255.00	4,335.00
42	350	box	Lidocaine HCI + Epinephrine 20mg/	ml(2%) 50's	;	2,899.00	1,014,650.00
44	120	bot	Lidocaine Local Anesthesia 50ml			98.50	11,820.00
45	1	рс	Nebulizer			3,180.00	3,180.00
46	3	set	Papaniculao Stain Kit			5,510.00	16,530.00
47	26	gal	Povidone Iodine		;	840.00	21,840.00
48	3	pc pc	Rulse Oximeter			1,220.00	3,660.00
49	10	pack	Resealable plastic container (for Sp	ecimen Transport) L 50	S.	460.00	4,600.00
50	10	pack	Resealable plastic container (for Sp	ecimen Transport) M 5	0s	415.00	4,150.00
51	10	pack	Resealable plastic container (for Sp	ecimen Transport) S 50)s	365.00	3,650.00
52	1	pack	Specimen bottle (for stool), Sterile	100s		1,320.00	1,320.00
53	75	pack	Specimen bottle 50s			455.00	34,125.00
54	100	box	Sterile gauze Pad 4x4 100's		İ	571.00	57,100.00
55	125	box	Surgical Tape 1" 12's			950.00	118,750.00
56	17	рс	Suturing Needle and thread			510.00	8,670.00
57	10	box	Syringe 0.5ml 100s		1	1,350.00	13,500.00
- 1			Tackle Box, clear		1	1,030.00	2,060.00
58	2	pc	Tape measures		İ	32.00	2,720.00
59	85	pc	Thermal Scanner, non contact Infra	ared forehead	Ι'	1,748.00	41,952.00
60	24	pc box	Urinary Reagent Strip 10L 100s		ł	1,550.00	62,000.00
61	40	box pack	Vacutainer Tube Red Top 5 ml 100	s		643.00	643.00
62	1	hack	page 2 of 6		.		
			puga = 0. 4				
	[descripting the form and Making bloom	
Total An	nounts in Wo	rds:					<u> </u>
						A harves always and an always a second of the control of the contr	
	In case of fa	iling to mak	e the full delivery within the time spe	cified above, a penalty	of one	e-tenth (1/10) of	one percent
for every	day of delay	shall be in	pole oc 1	•	1		
	T. A.	IELDA .	CERVANTES MACEUTICAL	Very Trul	y//x t	ZKNOKUFINO	
Confron	ne:REGII	MED PHAR	MACEUTICAL	Mayor	RP7	ZANORUFINO	R. RIAZON
	S	ignature ov	er printed name			Authorized Offici	
		Aur.	18, 2023				
	-		atd				
		L	ary			**************************************	Art continue to the resident to be the first continue to
(In case	of Negotiate	d Purchase	oursuant to Requesting O	ffice/Dept 12	1210		
	369 (a) of R			mecroept. runds	/yvai	lable :	
	mplished)	et for mig [ornon must		AIII	ount:	[
	•				- }	. No.:	
Approve	ed to be purcl	nased thru N	egbtiated		JK,U	. 140".	
Purchas	per Sanggun	iang Res. N	o.:				
O10	a C						,
Certifie	d Correct:		1.10	1005.11			
	5	ecretary of	the Sanggunian Authorize	d Official		Chief Account	.
			! !				
			1		- 1		

・

PURCHASE ORDER

City Government of Muntinlupa

Supplier :	REGIM	ED PHAR	MACEUTICAL	.,	P.O. No.:		1.507.057	
Address : Quezon City					Date :	August 01, 2023		
						rocur Tocur	ement :Pul	olic Bidding
, , , , , , , , , , , , , , , , , , , 				· • · · · · · · · · · · · · · · · · · ·				
Gentlemer	1:			•				
Communic	Please furn	ish and/or de	liver to this office t	he following articles subject	to the terms	and	conditions conta	ined herein
					·			
Place	of delivery :				Delivery T	erm :		
Date	of delivery:				Payment T	erm:		
<u>-</u>						<u> </u>		
Item No.	Quantity	Unit		Description			Unit Cost	Amount
63	14	box	WBC Pipettes 10's				1,650.00	23,100.00
64	82	bottle	Alcohol 70% 500ml	Isopronyl			138.00	11,316.00
65	16	box	Bouffant surgical he				210.00	3,360.00
66	1	box	Clay sealant	• •			378.00	378.00
67	38	roll	Cotton rolls 400g				249.80	9,492.40
68	2	piece	Couplin Staining jar	glass			625.00	1,250.00
69	80	bottle	Del Monte Vinegar			-	138.50	11,080.00
70	35	pack	Dental bib 100's				179.80	6,293.00
71	5	box	Disposable gloves.	large, unsterile, non-powder		ľ l	530.00	2,650.00
72	20	box		medium, unsterile, non-powo	der].	541.00	10,820.00
73	5	box	Disposable syringe	10cc, 100's			1,120.00	5,600.00
74	5	box	Disposable syringe				890.00	4,450.00
75	3460	piece		speculum (medium size)			51.00	176,460.00
76	300	piece	Customized Dual Ba				2,019.80	605,940.00
77	10	pack		est tube, 5ml (violet cap w/ c	over), 100's		720.00	7,200.00
78	34	box	Face mask 50's	hearbant			84.50	2,873.00
79	1	roll	Gauze Roll, large, absorbent Glass slide, frosted 72's				1,080.00 124.90	1,080.00 6,869.50
80	55	pack	1			}		-
81	5	pack	Glass slide, plain, 72's				149.50	747.50
82	5	pack	Glucose strip, 50's Gram stain set				1,500.00	7,500.00
83	1 32	set	Hair spray 120ml				3,850.00 160.00	3,850.00 5,120.00
84 85	1	piece set	Hemaquick stain se	et 500ml			5,010.00	5,010.00
86	. 1	box	Heparinized Capilla				220.00	220.00
87	15	piece	Kelly pad	.,,			980.00	14,700.00
88	35	box	Lubricating jelly, sa	chet 5g 100's			1,200.00	42,000.00
89	2	box	Multi sample need				1,052.00	2,104.00
90	30	piece	N95 Face mask	100 3		ŀ l	185.00	5,550.00
91	1	liter	•	Solution, (PNSS) 0.9% NaCl]	180.00	180.00
92	2	box	Sterile cotton pled				185.00	370.00
93	70	box	Sterile Surgical Glo	ves 6 1/2 50's			890.00	62,300.00
İ			pag	e 3 of 🍎		}		
	l					<u> </u>		
Total Am	ounts in Wor	ds:						
· ·	In case of fai	ling to make	the full delivery wit	thin the time specified above,	a penalty of	one-	tenth (1/10) of o	ne percent
for every	day of delay	shall be in	Diserco			1.	1 .	·
	IME	LDA S.	CERVANTES		Very Truly	Kaur	AND RUFINO	
Confron	e:REGIN	IED PHARM	CERVANTES		Mayor R			
	S		printed name			, Vi	uthorized Officia	1
		AUG.	08, 2023	?		 .		
	_	Da				ĺ		

(In case	of Negotiated	l Purchase pu	ırsuant to	Requesting Office/Dept.	Funds A	\vaila	ble :	
occion :	007 (8) 01 KA	v7160 this po	rtion must			Amo	.mt:	
be accon	•					ļ <u>.</u>		
Approve	d to be purch	ased thru Ne	gotiated		J	₹:O. ì	Vo.:	
Purchas	per Sangguni	iang Res. No				ļ		
Cartifical	Correct;					Ì		
⊖ei tiH¢(i	COLLECT:	ecretary of th	e Sanggunian	Authorized Official	-	ļ	Chies	
	ان	corolary of th	Coanggaman	Authorized Official			Chief Account	
	······································		-	<u></u>		ļ	· make from the a square over the amount of the constraint	manufaction to the principle and the following

PURCHASE ORDER City Government of Muntinlupa

Supplier: REGIMED PHARI			MACEUTICAL		_ P.O. No.:		030202	
Address : Ouezon City			į.		l			
Aguress .	_UUECU	<u>CIEY</u>	1		I.		rement : Pub	
					Mode of a	focu	ement:	
Gentlemer	ı: Please furr	nish and/or do	liver to this office t	he following articles subject	to the terms	and (conditions conta	ined herein
Place	of delivery	:						
Date	of delivery	:			Payment T	erm :		
Item No.	Quantity	Unit		Description			Unit Cost	Amount
			Control tip p	Cinches 7's 100's			550.00	19,250.00
94 95	35 12		Sterile Cotton tip ap Surgical tape,m 12's	pplicator 6inches 2's 100's			820.00	9,840.00
1	12 5		Test tube brush, 9"				55.00	275.00
96	-			be, Red top 5ml, 100's	!		643.00	6,430.00
97	10		•	-	ļ		465.00	465.00
98	1	1	WBC diluting fluid,		ļ		1	
99	1		X-ray envelope, 11x		1		435.00	435.00
100	1	box	X-ray film, 11x14, 1		1		4,110.00	4,110.00
101	1	pack	Yellow Pipette tips,	, 20-200uL, 1000's	ļ		1,430.00	1,430.00
102	100	kit	wash 50ml, alcohol	cover ((poncho style with pri I 50ml, cottonballs 50g, mate er, clear kit with zipper)		e	998.80	99,880.00
103	_	bti	95% Ethanol 1 Liter		ļ		559.00	2,795.00
103	5	1		: Jethylene Blue Chloride, 500r	ml Carbol	·	3,300.00	66,000.00
104	20	box				4-1	3,300.00	00,000.00
105	10	btl	Capillary tube NRIS shelf life 4 years, ca suitable for plasma	uchsia solution, 500ml Hydrochloride acid, safey data sheet apillary tube NRIS Micro hematocrit tube vitrex 100s nelf life 4 years, capillary tubes, impregnated Na-heparin, uitable for plasma blood sample testing especially in eonatal bilirubin test, 75 uL samples/ NRIS/VITREX				5,000.00
106	75	box	Disposable syringe	· ·	1		1,490.00	111,750.00
		i I				.		77,925.00
107	75	pack	Disposable syringe		,		1,039.00	
108	30	set	Ebicione Awa tahir	ng Sera Anti-D, 10ml(2bottles	⁵) .		3,500.00	105,000.00
109	30	btl	Epiclone typing Ser		l		3,500.00	105,000.00
110	34	btí	Ethyl Alcohol 70%				138.00	4,692.00
111	75	box	Gloves, Non-sterile		ł	1	318.00	23,850.00
112	75	box	Gloves, Non-sterile	e, medium, 100s, latex	ļ		318.00	23,850.00
113	40	box	Gloves, Non-sterile	e. small, 100s, latex	!		318.00	12,720.00
114	50	box	Hepatitis B Screeni		•		2,500.00	125,000.00
			Sterile gloves 7.5 5				1,491.00	37,275.00
115	25	box			ļ			•
116	25	box	\$terile gloves 7.0 5		}		1,491.00	37,275.00
117	300	рс	Test tube 10ml, (py		•		100.00	30,000.00
118	40	box	Urinary Reagent st	rip 10L 100s	1		1,550.00	62,000.00
119	5	box	WBC Pipettes 10s		j		1,650.00	8,250.00
	,		pag	ge 4 of <i>6</i>	į		!	
Total Am	ounts in Wo	rds:						s-essence there are a proper an
						<u>.</u>	L	
_	in case of fai	iling to make	the full delivery wit	thin the time specified above,	a penalty of	one-	tenth (1/10) of or	ne percent
for every day of delay shall be impo			osed on a	-		1	•	•
for every day of delay shall be important to make in the formula of the confront of the confro			O DUIJAKIT	r 5 (Very Truly	vdky	ANO RUFINO	
			A CENTICAL	6.3	Mayor P	44)	N. A.M. MINO	P BIAZON
			MACEUTICAL		Wayor n	944	AIVU KULINU	B. DIALUIY
			printed name		į	Αt	uthorized Officia	t j
AUG.			08, 2023	<u> </u>	i	i		i
Dat				_				
			ıq					
the same	China atasa	• • •				*****		an water or and a first balls with the sign of the statement
(III case o	Of Negotiate	d Purchase pu	usuant to	Requesting Office/Dept.	Funds /	vaila	ble :	
Section 2	69 (a) of R <i>F</i>	47160 this po	rtion must			Amoi	unt:	
be accon	ıplished)			1		••••		
	•			1			Ло.:	
		nased thru Ne			j 'j		40.:	
Purchas j	er Sanggun	iang Res. No.		1]			
		-]	í		
Certified	Correct:			ļ				
	S	ecretary of th	e Sanggunian	Authorized Official			Chief Account	
					1			
				~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~		**********		

# PURCHASE ORDER City Government of Muntinlupa

Supplier :	REGIM	ED PHARI	MACEUTICAL		_ P.O. No.:	{	)30202	
		City			_ Date :	roeur	August 01 Pub	, 2023 lic Bidding
Gentlemet	ı: Please furr	ish and/or del	iver to this office th	ne following articles subject	to the terms	and e	conditions contain	ined herein:
Place	of delivery				Delivery T	erm ·		The Company of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the State of the
			}				Lance Acces o Program was made as an analy \$24,145,550	
Item No.	Quantity	Unit		Description	J		Unit Cost	Amount
120	10	set F	Gauze Bandage 3: 0 Gauze Pads 4x41 0 Gauze Pads 2x21 Hydrogen Peroxic Alcohol Isoprophy Povidine Iodine 1 Spirit of Amonia 1 Sterile Water 20n Mupirocin Ointm Elastic Bandage 2 Elastic Bandage 4 Elastic Bandage 4 Elastic Bandage 6 Tongue Depresso Cotton Applicato Digital Thermome Triangular Cloth I Hot Water Bag 50 Sterile Gloves Lat I Ice Bag #6 Trauma Bag Sling Surgical Tape 1"- Paramedical Scis: Forcep Plastic Hat Medicated Plasti Tourmiquet Flat- Alcohol Swabs 1x1 10 Povidone Iodine	C's-2pcs C1's-2pcs C1's-2pcs C1's-2pcs Le 10vol 60ml-1bot. Le 10vol 60ml-1bot. Sml jchemie01bot. Le 10vol fomie-1bot Le 10vol fomie-1bot Le 10vol fomie-1bot Le 10vol fomie-1bot Le 10vol fomie-1bot Le 10vol fomie-1bot Le 10vol fomie-1bot Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 10vol fomie-1pc Le 1			9,879.50	98,795.00
Total An	ounts in Wo	rds;				ļ		
for every	day of delay	Shall be imperior of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of the control of	CERVANT ACEUTICAL printed name 08, 2023		Very Truly <b>Mayor F</b>	627 A	ANO RUFINO uthorized Officia	B. BIAZON
Section be accor Approve Purchas	369 (a) of Ranplished)  In to be purely  In per Sanggun	d Purchase put A7160 this por nased thru Neg iang Res. No.:	tion must otiated	Requesting Office/Dept.		Amo	rble: unt:	******************************
Certified	l Correct:S	ecretary of the	Sanggunian	Authorized Official		-	Chief Account	
						,		· · · · · · · · · · · · · · · · · · ·

# PURCHASE ORDER City Government of Muntinlupa

Supplier	: REGIN	IED PHAR	RMACEUTICAL	<u> </u>	P.O. No.:	030202	
Address : Quezon City				Date :	August 0	1, 2023	
					Mode of P	rocurement: Pu	blic Bidding
Gentleme		nish and/or de	eliver to this office	the following articles subjec	t to the terms		nined herein
Place	of delivery				Delivery Te	tarinaria distanti di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina di salamina	ر په ښوده مريدسيوسي
						am :	
Item No.	Quantity	Unit	•	Description		Unit Cost	Amount
121	10	pcs	Supply & delivery to be used b	00pcs-1pack		128.20 ==== == P7,085,	1,282.00
Total Ame	ounts in Wor	ds:					r yaykanarakenak. Anir yainig 6 to Adriad gravenium
TOP CYCLY	day or detay.	ELDA ED PHARM gnature over	S. CERVAN ACEUTICAL printed name 08, 2023	thin the time specified above,	į.	one-tenth (1/10) of or of a find the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second of the second	3. BIAZON
Section 3 be accom	69 (a) of RA plished)	Purchase pu 7160 this por	suant to tion must	Requesting Office/Dept.	1 1	ailable :	
Approved Purchas of	to be purcha er Sanggunia	nsed thru Neg ing Res. No.:	otiated		IR.	O. No.:	
Certified		g . 1901 11011					
		cretary of the	Sanggunian	Authorized Official	-	Chief Account	
<del></del>	<del></del>			]		ning terminal of the break discourse one god gardens to the standards as a second as a second	